MET—2

10 LLTF BF50mE R 0t
[:4iv2 K& i S LS e
1|\ RE E#E U MVERAR ha 33.19
2|/ R SEEKKHE N4 34.07
3| HA R XESS N4 34.95
4| E+EKXHK SERKKHE Iha 34.96
5//N\8& E XESS ha 35.17
6| &iE U MVERAR 4 35.38
TRl #hZE TSRV 4 35. 80
8| /iy BEZE SEEKIKEE ! 35.85
9| BRmEEAEA #BESs C NG 35.99
10482 & KSGEI ha 36.72
1| &k 2/ KSGHit NG 36.96
12 | B CAER U MVERAR N3 37.12
1B EHE & U MVERAR I3 37.13
14| =8 B2 KSSE& na 37.24
15| &k 1T XESS N4 37.44
16|2+E 5 AN =IFHT N3 37.48
17 ##% EE U MIVERIR N3 38. 14
18|k & KSGHit N4 38.51
19| &% B HyHISC ING 38.78
20| = st SEAKKHE N3 38.89
21| BiE HFXK KSGHEI h2 39.48
22| #E #@X 24T 4KR ha 39.97
23| KiT B|E XESS N3 40.08
24\ B 15H XESS I3 40. 25
25| /MR BRIE SERKKEE ha 40.79
26| 1L 3 XESS ha 41.05
27 |[1Efk  #&3 SEEKKHE 4 41.42
28| B2 = HyHISC NG 42.37
29 | HEIEAR KRR AT 4 KR IN3 45.50
30 (U FEE HyHISC INT 51.46




MET—2

11~128% BF50mE B 3t

172 K& iR HE LS e
1| &EE —F EHSC NG 30. 37
2| PR A lLfzD C NG 30.72
3|;FHF WL XESS NYG) 30.73
485K HR#D HyHISscC NG 30.79
5|5% FEX ifzD C NG 31.82
6| ER #EE RS C NG 32.00
1M B U MVEAR NG 32.30
8| FF [GIE XESS MBS 32.50
9|8H# EBEX ifzD C 6 32.60
10058%F # E#sScC N5 33.05
1|5k &% BEEscC NG 33.34
12| RBNEIK HHISscC INY) 33. 65
13|8&%E %RET U MVEIR N5 33.74
14| #31 BHE U MIVERIR NG 33.79
14| F% = KSGHit NG 33.79
16| B+ B AN =IFHT NG 34.30
17| KHE BB HHISC N5 34.36
18| HHE #kig HyHISC NG 34.57
19[E+E R SER KK E NG 34.83
20| A@ELL e #ES C NS 34. 89
21| mN E3 ifzs c 6 35.19
22| A8 =X AN =VFHT INB 35.30
23| 8K BE HHISC NG 35. 64
24| B R SEAKKHE NG 35.70
25 | 5B E KR 24T 4KR 6 36.30
25| =% & lLfzD C NG 36.30
27|\ @A FH KSGHit INS 36.38
28| Az REE SERKKHE N5 36. 48
29| HE KH KSSE& R NG 37.45
30| £ %A SERKKHE 6 37.59
N|EE KB KSGHit NG 37.69
2|\E®E B KSG®Eit NG 38.18
33| AR & KSGHit ING 38.86
34| 1EHE HEX KSSE& NG 40.93
3B |EF 1B HHISC NG 41.07

XK LI EHEA RH#sScC N5 EiE




MET—2

13~148% BF50mE B St
172 K& iR HE LS e
1@ Gt #BrES C 2 24. 61
2| /E B KSGHEIt 2 25. 84
3| tkiE EBX KSGHEi F2 26.19
48 BX #BRES C F1 26. 39
S5|IE EE J—kscC H2 26.73
6| E+iEkE SERKKHE 2 21.22
T8k F BRSsC 2 27.29
8| R =B KSGHEit H2 27.74
9[/ME BBE SAY < HTJ 2 28.06
10(ER 3t SERKKHE #1 28.13
11|86 5 24T 14 KiR F1 28. 24
12| %% RE SAY T HT 2 28.27
13| %k % SERKKEE 2 28.30
14| %% 18 KSGHEIt & 1 28.33
15(n A& BEEscC h2 28.35
16 |E= R J—kscC 2 28.38
178K BE SAY < HTJ 2 28.39
17| R%E &0 SERKKHE 2 28.39
19(#L H=X ERKKEE h2 28. 42
20 | #2ILEATIEA AN =IPHT F1 28. 49
21\ B = HHISC f1 28.52
22| XM ZE KSGHEit & 1 28.56
23| @Ep HHISC F1 28. 65
24| ER EA KSS#E& R 2 28.75
25| BRI E wfzD C f1 28.79
26| im EiX SAY T HT 2 28. 87
27\ Ki§ SAY T HT F1 28. 88
28 | IERR KD KSGHEIt # 1 28.96
29|1X@ EE KSGHEIt f1 29.09
30| BE3R  BRst SAY T HT § 1 29.25
3| =P &M HHISC h2 29. 44
32| [ EZE SAY T HT 2 29. 63
33| HE Mt wfzD C 2 29.76
3| HHHEE SAY T HT 2 29.77
35| ¥ ER KSGHit h2 30. 41
36 |EH KH iz s F1 30. 45
| E+EFK KSSE& R 2 30. 50
B|EA EHE KSGHEit 2 30. 57

-3 -




MET—2

13~148% BF50mB Az oo
172 K4 iR HE B w"E
9| LE EE #BrES C 2 30.72
40| #&  ZSKER SEEKKHE i1 30. 81
41| ZHEE(ER iz s c h2 30.92
42\ = = kv Z7a—FK F1 30.97
43| L% BX #BrES C f1 31.20
44| BK AT fy7Ba—F &1 32.37
45| &8 Lk SAY T HT F1 32.43
46| TF Hith XESS F1 32.79
47| EE &K XESS 2 32.83
48| BR EBA K#SC i1 32.95
49| BEK RUE IRR—k h2 33.79
KKK | RBRFERE by FOo—Fk INY) e
XX | NER E E#scC 2 EiE
XXX | B EX J—ksc 2 EiE
XKIOK | B AR SEEKIKEE M1 ZiE
XK | HR B #EscC 2 Eig
KKK | ER KB AN =NTHT H2 2




MET—2

15~168% BF50mE B 124
172 K& iR # LS e
1| EiE B TSRTY =R 25. 63
2| REF EF TAT4%KR =1 26.05
3| &k HEiE vy Fo—F =1 26. 06
4| 7R K& by FO—Fk =1 26.16
5| Tk £E XESS =1 26. 21
6|BE#H X KSGHEit =1 27.39
1| EBEET #BREsC =1 27.43
8|58 &iE #BRES C =1 27.48
9| Et+iEiEsE 24T 4KR =1 28.50
10(%F# BX HHISC =1 30. 58
XXX | BR OBE KSGHEi =1 ZiE
XX | HE iz s # 3 RI&




MET—2

VEC 4,0 ° 2
FroE” 1vyy7 BF50mBH# #
=t K4 B P S| f5&
1|EK —8 BFESsC =2 25.13
2|5 )il REH BEAKKSEE 52 28. 51




MET—2

11~128% BF100mE B 1oft
172 K& iR HE LS e
1 g 5 24T 4KR 6 102. 23
2|8l —F E#sScC NG :06. 08
K - YHISC ING :07. 94
4| KRR —® IRKR—F NG :09. 54
5| 9% EKX lifzD C ING :10. 06
6|BR RS EEscC NG :10. 27
1M B U MVEAR NG 112.35
8| E+E B AN =IFHT NG 13.77
9|l B J—kSC NG :15. 85
10| KE HkEE HHISC INB :16. 38
1| s &L U MIVERIR NG :17. 69
(VAR 1 S S SEAKKHE NG 118.29
13| Al A #BEsC ING :18.59
4|2l RE SEEKKHE NS :20. 88
158 =X AN =WTH7 NG 120. 95
16| KB i YyHIsc NG :20. 98
17 E+E 1] SERKKHEE ING :21.74
18| #k; BEZE SERKKHE NG :21.79
19| &l %A SEEKKHE Y] 23,11




MET—2

13~148% BF100mE B ot
172 K& i HE LS e
1@ Gt #BESs Cc 2 54.22
2| Eth Ek J—ksc #1 57.38
3| B8 EX BRSsC &1 57.66
4\ BEHE =B #BrES C F1 57.80
5|E+EkE SERKKHE 2 59. 05
6| R ZEB KSGEi 2 59.57
T/ 88K BIE SAY T HT 2 :00. 68
8| Kl #X XESS &1 :00.70
9|/ iy EE SEEKIKEE B 1 :01. 39
10/ &8 BE SAY T HT 2 :01.50
11|@Ad % HHISC H 1 101. 54
12 |k R #BrES C t 1 101. 62
[E15: J.2 H$HISC # 1 :01. 65
141 8RRt SERKKHE #1 :01. 91
15| BB3R  HR2 SAY T HT H 1 102. 26
15| KA & HYHISC 1 :02. 26
17 #L #=A SERKKEE th 2 102. 83
18| A ZEE KSGEI & 1 :02. 99
19(BR BEA KSS#B 2 :03. 01
20| 86E B 24T 4 KR F1 103. 04
21|/ &KX wfzD C 2 103. 16
22 | # LB R B AN =NTHT H 1 :04. 05
23|18 B SAY T HT 2 104. 18
24| H#HE #HKX T AT 4 KR F1 104. 45
25| KA EE wfzD C f 1 105. 68
26| BER KA SERKKHE #1 :05. 72
27| BA+EFik KSS#B 2 105. 80
28 |i=pE &0t HYHISC F2 :05. 98
29|k A XESS 2 106. 04
30| HHEMEE SAY T HT 2 :06. 72
3| 8K X wzD C 2 :07.35
2|&%E EBEX SAY T HT t 1 :07. 63
33| EH KH ifzs c H 1 107. 80
M| EHE Eth vy 7O—FK f 1 :08. 04
35| ZEE{ER iz s C 2 108. 45
| RBN E wfzD C H1 108. 62
37| #  #SKER SERKKEE 1 :09. 03
3| #HK MAXK SAY T HT 2 109. 13

-8 -




MET—2

13~148% BF100mE B ot
172 K& iR HE LS e
9|EA EHE KSGHEIt 2 1:09. 69
40| BER IBA K#SC &1 1:11.24
41| HNE SRk KSGREit F2 1:11.70
2| &I Fig XESS 1 1:14.42
3| A%k =FH SAY < HTJ f 1 1:14.98
M\ ITFE =K XESS &1 1:15.08
XXX | MER E E#sScC h2 EiE
XXX | B EX J—kscC 2 Eig
XK | BER B RS c H2 e
XK | EBR  ITth SERKKHE 2 EiE




MET—2

15~168% BF100mE B L
172 K& iR HE LS w"E
1| BRI —EB #BrES C =1 52.77
PAR=Y:J: P TSRV =1 56. 27
3| Rk K& vy Fo—F =1 57.96
4| % wE #BRES C =1 58. 50
5|tk B vy 7a—FK =1 58. 64
6 | EBRE EEscC =1 1:00. 30
1\ 5% %iE #BREsC =1 1:00.72
8|¥ME #E3} lfzs t 3 1:05. 49
9| B2 FR RS c =1 1:07.42
10/ %5ith BBX H#HISC =1 1:07. 60
XXX | BR OBE KSGHEi =1 ZiE

- 10 -




MET—2

FAOE 1997 BEF100mE B o
172 K4 i HE B "E
&K —8 #BEsC =2 54.08
VAR /N:: - U gES C =2 55.17
3 =H =R #EscC =2 57.96
4| g EIAR RS cC =2 58. 42
5|t & E#sc &2 59. 00

- 11 -




MET—2

11~128% BF200mE B o
[:8iv2 K& iR S LS e

1 5 AT 1 KR NG 2:16.54

2| K FiE SERKKHE 6 2:22. 60

3| &R Hik YHISC ING 2:23.80

4| EALTEAN 24T 4 KR NG 2:24.94

5| KH Ei& HHISC ING 2:31.46

6| s #HK XESS NG 2:34.05

119% EX wzD C NG 2:35.13

8| KR —=R IRKR—F NG BhEE

- 12 -




MET—2

13~148% BF200mBE B 2488

172 K& iR HE LS e
1% &8 s C 1 2:01.01
2| Bk B s c & 1 2:05. 88
KIPNITE - N XESS H 1 2:10. 87
4|5EH T IRKR—F F2 2:12.98
S|l = YHISC # 1 2:14.50
6| %k RAiE SAY T HT 2 2:14.74
TIKBA W HHISC H 1 2:17.63
8|k £ J—ksC 1 2:18.73
9| FHLE #H#X 24T 4KR §1 2:20. 06
10| =8 FA 24T 4KR 2 2:20.98
ik B SEEKKHE F2 2:25. 62
12| %L &iE IRKR—F 1 2:25.83
13| %k 2t by FO—FK 1 2:26. 62
14| %% ER SERKKHE f 1 2:29.43
15| BT &R JfE lifsD C F2 2:30. 24
16| /M7 B& IRKR—F 1 2:31.72
17|55 18 SERKKEE §1 2:31.88
18 =B/ At SERKKHE f 1 2:31.98
19| KB H= IRAR— bk H 1 2:32.37
20 | /NP K ER IRKR— bk 1 2:34. 44
21| A%k =H SAY < HTJ 1 2:37.21
22| =gk 1B IRAR—b & 1 2:52.51
23 |BEK RUE IRR—F F2 2:53.22

XK | EBE ITth SERKKHE 2 Eig

- 13 -




MET—2

15~165% BF20mBE BT "
sz K4 B s B i

1| {EBEE—ER #BFES C = 1:53.18

2| A R HHISC = 2:04. 81

3| E¥ FEE EBFEs C =) 2:06.98

485K WREE HHISC = 2:07.97

5| 5% BRE lfzs C h 2:13.24

6| K& BF s C = 2:14.05

1B FR EBFESsC =) 2:23.06

- 14 -




MET—2

Fyvt 1Yy BF200mE B 1
JIE 2 K4 iy} -k B BE
1| Ik &3 HAKIKEE g2 1:53.67

- 15 -




MET—2

13~148% B F400mB B2 "
[:8iv2 K& iR HE LS e

14 1#t XESS 2 4:23.18

2| R BE EEscC f 1 4:28. 66

3| Hh I\L XESS F2 4:36. 27

4| 8%@ KRE SEHEKIKHE 1 4:45.06

5| KA W $HISC f1 4:48.51

6|&%® FA AT 4KR F2 4:58.04

ARLII= RN SAY <D H1 5:04. 34

- 16 -




MET—2

15~165% BZA00mE B 2
JIE 2 K4 iy} -k B BE
1#E  REX HHISC =1 4:27.19
2| 85K RREE HHISC =51 4:31.96

- 17 -




MET—2

[N PR R ° 2
Favb tuyy7 B F400mE B 2 #
Wi Y R e ) s
1/ &L #EES C =2 3:59.14
2| Il EERR SEEKKHE =2 4:55.03

- 18 -




MET—2

Fot Fvyy7 BF1500mE Bz T
sz [ B o ) i

1| =5 #E #®ES C o 1 17:45. 96

2| INE 12 T MIVEIR Ihe6 18:22.78

3| EBE R EBESsC g1 18:27.74

4\ #H KB BHEKKHE =] 18:43. 41

5| A+EBIIE U MIVERIR NG 19:36. 91

6| EHEIEAKER T MIVEIR Ih6 20:06. 84

VARG JE T MIVER N6 20:12.05

-19 -




MET—%

10 LLTF BF0mE ik E 22t
[:4iv2 K& i S LS e
1|\ RE E#E U MVERAR 4 36. 90
2| & R XESS ha 40. 00
3| E+REKHK SER KK E 4 40.24
4lEHT BiE U MVERAR 4 41.01
5|tk RXIE XESS N4 41.25
6|/N&F E XESS 4 41.47
T|HA IEE U MVERIR IN3 42.10
8liEEE SEAKKHE ! 42.42
9| KA ¥z XESS I3 43.20
10X® IRR—b ha 43.94
niEE 5 KSGHit NG 43.97
12| AE Fk KSGHEI h2 45.28
13|ithEA  =1h KSGHI N3 46. 29
14| 1ILN & YHISC INT 46.72
15X & KSGEI 4 47.09
16|/ BEZE SEAKKHE ! 47.80
17|%2 = YHISC N4 48.52
18| KiI BE XESS N3 48.68
9 RE BF RS C N3 49.52
20| # L HEX 24T 4 KR 4 49. 96
211k %53 SERKKEE ha 51.76
22| At+E BB AN =77 N3 51.91

- 20 -




MET—2

11~128% BF50mE ik E o
172 K& i HE LS e

1\FEE & KSGHit ING 34.37

2| 8% Bk XESS NG 36. 95

3| A &=L U MVERIR NG 40.35

4| HFRHRSF KSG®it NG 41.64

5|8l RE SERKKHE NG 41.82

6|EA F& KSGEi NS 44. 40

T|AE &= KSG®Eit INS 47.50

IES PN KSG®Eit NG 48.94

- 21 -




MET—2

13~148% BZo0mEikE 1
JIE 2 K4 iy} -k =3553] BE
XXX | B - AN =FHT 2 ZiE

- 22 -




MET—2

IS PLE RN ° 33 14

Fyut 1oYy7 B F50my ik

=t K4 iy =2 B f5&
1| /NEpfE K ER IRKR— bk i1 38.52

- 23 -




HET—4
E [N 3
11~128% BZ100m vk = #
JIE sz K4 iy} BE =3553] BE
1| g ] <A T4XKR NG 1:14. 80
2| Hile  #HX XESS NG 1:15.93
3| KA HEiF HHITSC ING 1:16.13

- 24 -




HeET—4%

13~ 1428 BE100mE ik & 1o
172 K& iR HE LS e

1B EX KSGHit F2 :03.08

2@ BE J—ksc 2 :08. 15

3|1FxE ik KSGHEi H 1 :09. 42

40 kF #BrES C 2 109. 47

5|iER =B KSGHEit H2 :12.05

6| LT #H lifzD C 2 213.13

AR =DIT i) SEEKIKEE 1 :15.13

8| A R SAY T HD # 1 :15. 45

9|:=pE &0t H$HISsC 2 116. 56

10/ B I RKR—+ #1 119. 54

118K #|MX SAY <4 2 119. 82

12| /iB B2 I RKR—k t 1 121.06

13 | /NEFf2 K AR IRKR—F B 1 :21. 61

14 1L EE EEscC 2 :21.68

15|88k ARG I RKR—k 2 :24.09

16|/t & E#sSc t 1 124.20

- 25 -




o~
1)
J
I
=

15~168% BF100mE ik & e
172 K4 i HE B "E
11e E#& lfzs c =1 1:04.59
PAR=Y:J: P TSRV =1 1:08. 34
3| HRIE [E# YHISC =1 1:10. 67
4|5 /XK HYHISC =1 1:18.33

- 26 -




HAT—%

13~148% BF200mE ik E o
172 K& i HE LS e

14 1#t XESS 2 2:15. 86

2| Eth Ek J—ksc f 1 2:16.24

3| tkiE EBX KSGHEi F2 2:20.65

4| Eiy IBE XESS F2 2:27.70

5|%ME B AT 14KR 1 2:33. 31

6| /) ¥ith SERKKHE f 1 2:41.34

T|WLWE Rt iLfzD C F2 2:42.39

8|FE B RE#scC 1 2:53. 36

9| &= Fm— lifzD C H2 3:12.65

- 27 -




2
1)
J
I
=

e 3 2
15~165% BF200mE ik E i
IRt R4 iR ¥ R %
118 EE lizs C =1 2:26. 21
2| HRiE [EH YHISC =1 2:39.03

- 28 —




MET—2

108 LT BF50mIEk X o
172 K& iR HE LS e
1Rl #wZE TSR NG 44.76
21N EZ EEscC 4 48.16
3EH = XESS 2 54.91
4| 1EIEBR AR AT 14KR /N3 55. 68
S5|itE =B KSGHI N3 55.77
XX | Bk & KSGHit N4 K%

- 29 -




MET—2

11~128% B F50mE ik F 1ot
172 K& iR HE LS e
1|\ KRE IE AT 4KR NG 39. 09
2| % KE U MVERAR N5 39.75
3| FE  FEE KSGREit NG 40. 34
418 EHC SERKKHE NG 40. 45
5|k ES SERKKHE h6 40. 80
6|5k |E BRSC NG 41.66
1R = KSGHit NG 42.60
8| HIE XK XESS NG 43.65
9|l B J—kSC NG 43.98
10| KHE #xiE YHISC Y] 45.52
N\ Ek & KSGHit INS 45.74
12|deF &E AT 14KR NG] 45.92
BIRR —&K IRR—b NG 46.02
14| 1587 2 X BB 24T 4KR NG 46.16
15|82 WX wzD C NG 46.74
16[#E) = U MVEAR NG 47.24
17|tk #E RS c NG 47.85
18| = AR lLfzD C NG 49.06

- 30 -




MET—2

13~148% BZ50mE]EF #
JIE 2 K4 iy} -k =3553] BE
1| &% =& W e ARHFE 2 39.79

- 31 -




MET—2

15~161% BZ50mE]EF #
JIE 2 K4 iy} B BE
1| FTER = BHSC =3 30.16

- 32 -




MET—2

(3N PR N ° N 1

FruE” tUyy7 BZ50mE]EF #

T P — pys = e
1|FRE EA <A T4KR t2 34. 88

- 33 -




MET—2

1~125% BF100mE 5k E 1t
172 K& iR HE LS w"E
1|E% FBIL XESS N6 1:21.45
2| Kilg FiE SERKKHE NG 1:22. 11
3| HRE Im&E AT 14 KR h6 1:24.18
4 BE KB U MVEAR NG 1:27. 11
5| EAIRA 24T 4KR NG 1:27.19
6|k F=& SERKKHE NG 1:29. 86
7% B|E BEEscC N6 1:30. 40
8|FE FEE KSGRit NG 1:30. 88
9|8 B SERKKHE N5 1:31.93
10484 #53 gmES C 6 1:40. 84
11&€ AKX wzD C ING 1:41.62
12| 8K BE YyHIsc ING 1:43.72
M| B BESE J—kscC NG K&

- 34 -




MET—2

13~14% B 7100mFE ik = o

172 K& iR HE LS e
1 =R i W e RRHTE 2 1:08.29
2| Fth B XESS 2 1:10.15
3| R B XESS H1 1:11.91
4| FKRE EA AT 14KR F2 1:13.26
54  #Bth XESS 2 1:13.43
6K FH#k EEscC 2 1:13.56
T|ED A BRSsC F2 1:13.75
8| FEH #®iy SEHEKIKHE 1 1:13.98
9|BiE BE XESS H2 1:18.44
10| 7k 1850 SAY < HJ f 1 1:18.79
1| @ B2 SAY <4 2 1:20. 65
12 | EAGTHAT iz s C 2 1:20.90
13| KL #X XESS f 1 1:22.08
14%@ BX SAY < HJ f 1 1:22.38
15| 5Z@EA/ SEEKKHE H1 1:25.13
16| L8 BEX S C =e ] 1:25.37
1754 RiE W e RRETE 2 1:27.00
18| =B 123 IRAR—b f 1 1:31.72

XKMXK | RB/N E lifsD C &1 e

- 35 -




MET—2

15~165% BZ100mE 5k = ot
JE{sE K4 g =3 B f5&
1|Iik XE XESS = 1:04. 38
2| EE RS C =) 1:05. 28
3| B = HHISC =3 1:12. 64
41 )1z EEZFH lifzs C = 1:13.20
5|8 £% SEEKKSHE = 1:18.89

- 36 -




MET—2

11~128% BZ200mE 5k = 1
JIE 2 K4 iy} -k =3553] BE
1| RE & <A T4KR NG 3:02.01 OPEN

- 37 -




MET—2

13~14% B F200mE jk ¥ "
172 K& i HE LS e

1% B KSGHEit 1 2:22.65

2| 2R W e RRHTE 2 2:27.47

J|/RE EA AT 14 KR F2 2:38.50

4| HEE |mx lifzD C 2 2:44. 44

5| i KSGHEI H 1 2:47.82

6 | RIS s c 2 2:55.65

1|2 £ J—kscC H1 2:56.27

- 38 -




MET—2

o 3
15~165F BZ200mE 5k = #
gz E% iR s Bl e

1| I XE XESS =1 2:17.07
21 IR HEH lLfzs C =1 2:46.217
3 BB £% SEEKKEHE =1 2:48.06

-39 -




MET—2

FAOL 1UYy7° BF200mE jk & g
[1:{iv2 K4 777 B B RE A&
1|/ =R #BES C =2 2:33.83

- 40 -




MET—2

10 LA T BF50mn 4734 g
172 K& iR HE LS e
1tk # SERKKHE ha 36.55
AR U MVERAR 4 39. 11
3| KA ¥z XESS I3 39.20
41/ L SEEKIKEE ! 39.40
5| BRI AR #BES C NG 41.48
6| %8 £ KSSE& ha 41.89
188 = U MVERIR IN3 42.60
8 | A LAER U MVEAR N3 42. 71
9| Ik M #BrES C ha 42.85
105% = XESS N2 42.98
| {&E%E B YHISC ING 44. 24
12| 28 s SEAKKHE N3 46. 80
13| &% XESS N3 47.04
14 /Ih#h BRI SERKKHE ha 41.70
15| #E #X AT 14 KR 4 48.50
16 | #EIZEERKER AT 14KR /N3 51. 61
XX | KR B I RAR—b ha %i&

- 41 -




MET—2

1M~128 BF50mn 4734 1t
[:4iv2 K& i S LS e
1| &RE STk YHISC NG 30.78
VARY . S KSGHit INS 31.95
3| kik LB SER KK E NG 32.36
4l KB EE $HISC NG 33.70
5|#K IR#ED YHISC NG 34. 21
6|58 SE XESS N5 34.49
T\8#F EBEX wzD C NG 35. 68
8| iEikl U MVEAR NG 36.05
9| FHM BE U MVERIR N 37. 64
10(#) = U MVERAR N5 38.57
na# # RH#scC NG 39.38
12| KB ke YHISC ING 42.97
13| AR &= KSGHit ING 46.10
XXX | WIEHEAN K#SC NG 37

- 42 -




MET—2

15~168% B Z50mn §754 1
gz K% FiE B Bz
1|iEE  FiR EBESC = 26. 83
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MET—2

[N PR R ° ¢ - 3
FroE” 1vyy7 B Z50mn 4754 #
=t K4 B P S| f5&

1= =2 BFESsC =2 25. 96

2|#2@m EIE #ErESC 52 27.21

385K HEX ILfsD C 2 31.87
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MET—2

& - 2
11~128 B F100mn" 4754 #
JIE 2 K4 iy} BE =3553] BE

11 5%FE S HHISC NG 1:09. 85
2|1k DE HAKKEHE NG 1:14.85
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MET—2

13~14m% BF100mn” 4754 21

[:4iv2 K& i S LS e
1|8l HE KSGHEI 2 59. 95
2| B B EEscC f 1 1:01.57
3| A [ERA YHISC F2 1:02. 59
4| RE  [EH KSGHEIt H2 1:03. 26
5|#E =X J—kscC 1 1:04. 63
6|%H T IRKR—k 2 1:08.16
T/MhE BB SAY T HT 2 1:08. 40
8|ER {RER J—bkscC F2 1:009. 41
9|\ K#0 KSGHEI &1 1:10.13
10 i=E #X E#scC 2 1:10.59
11| &M &KX XESS 2 1:11.74
12| %k 1E KSGHEIt f 1 1:12.22
138K &8 SERKKEE 2 1:12.33
141 3%L B8 IRR—b &1 1:15. 43
15| #gILEEER lifsD C H1 1:15.57
16 | %% ER EHEKKEE F1 1:16. 11
17)i%:2 Lk SAY T HT 1 1:17.52
181 /M7 B IRR—k § 1 1:19.24
19| KB H= IRAR— bk H 1 1:24.09
20 i=pE B3 IRKR—F 1 1:30. 87

XX | EE A SERKKEE f1 EiE
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MET—2

15~167% B-F100mn" 47734 o
2= FE e e
1 gBFS C &1 58. 72
2 247 4 KR 1 1:04.18
3 S © 3 1:07. 31
4 K S GHEL &1 1:10. 41
5 24 T4 KR &1 1:15.06
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MET—2

Fyob” tvyy7° B F100mn" 4754 ¥
JIE 2 K4 iy} -k B BE
1|&48 EE E#FSC =52 1:02. 81
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MET—2

13~14% B 7200mn” 4754 ot
[:8iv2 K& iR S LS e
1| %=k 3B #Bis c &1 2:11.56
2| MR BRE XESS f 1 2:12. 11
| B BE XESS F2 2:17.59
4| #2E &R HYHISC F2 2:26.48
5| &I HiE IRR—F 1 2:56. 08
XX | HEE FTEX J—kscC H1 K&
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MET—2

15~16& B Z200mn" 4754 s
JIE 2 K4 iy} -k B BE
188 = HHISC =1 2:24. 60
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MET—2

[N PR R ° ¢ - 1
Fyot” Fu9y7 B F200mn" 4754 #
WAt K& — prye e =
XXX | BB BY KSG®EI 52 ZiE
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MET—2

10 LT B F200m{&E A A b L- 7
[:4iv2 K& i HE LS e

1tk # SERKKHE Iha 2:56. 98

2| R1E B U MVERAR Iha 3:04. 47

3| HA R XESS NG 3:06. 49

4| FHM IEE U MVERIR N3 3:12.16

5| E+EAKHK EEKKEE Iha 3:12.87

6|/NEF E XESS N4 3:15.70

Ti/hh &R SER KK E Iha 3:17.06

8| RE = U MVERIR N3 3:19. 86

9|k T XESS N4 3:20. 36

10| KE ¥z XESS In3 3:24.22

1nEH = XESS Ih2 3:27.58

12| /1hir BZE SEEKIKEE N4 3:30. 26

BIRR E I RKR—+ Iha 3:31.99

14| BB Fk KSGEI h2 3:32.07

158 XESS NG 3:37.10

16| Z=me  1&HF XESS NG 3:52.68

17/ KT 8% XESS N3 3:55.27
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MET—2

11~128% BF200mBE AN A b- 1t
172 K& iR HE LS w"E
1| Kk F*iE ERKKHE 6 2:41.00
2| PR A lLfzD C NG 2:42.54
3| Rk @&/ KSGREit INS 2:43.74
4|tk D& SEEKIKEE NG 2:44.35
5/FF [GiE XESS ING 2:50. 09
6|2 & SERKKHE NG 3:08. 27
AE#: & AT 14 KR Y] 3:08. 97
8| B SEAKKHE NG 3:11.60
9| R ES SERKKHE NG 3:11. 61
10|28l HRE SERKKHE NG 3:14.25
11|80 #EE SER KK E NG 3:14.90
12| &% %A SEAKKHE 6 3:17.84
13| B HESF KSGRit NG 3:22.94
XX | FE B KSGEi N6 K8
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MET—2

13~148% B F200m{@E A A b b- 7o
[:4iv2 K& i HE LS e
1R HE XESS f 1 2:10.22
2|k BE EEscC f 1 2:15.72
| B BE XESS F2 2:17. 44
4| SR T EESscC 1 2:20. 14
5| BE J—kscC 2 2:22.12
6@ [BRA HHISC 2 2:23.44
T|ED A BRSsC F2 2:25.52
8|/ WE SEHEKIKHE 1 2:29.74
9| RABIHN YA T14KR H2 2:30. 14
100/ EX IfzD C 2 2:30. 92
/NE BB SAY <4 2 2:31.97
12| B % YHISC 1 2:32.35
13| %5k K#0 KSGHEit 1 2:34.39
14| RE &0 SERKKHE 2 2:34. 60
15| KA & IifzD C H 1 2:35.06
16| &M X RE#scC 2 2:36. 37
17| 7 &5 SAY < HTJ 1 2:36.77
18|1X@ #hiE KSGHEit & 1 2:38.25
19| E+EKE SEEKKHE F2 2:38.90
20| #HLE /K AT 14KR =e ] 2:43.65
21| #  #5KER SERKKEE §1 2:44. 41
22|Wa GEA SAY < H f 1 2:44.70
23 | EERR IAK SEEKKHE F2 2:45.72
24 | HBILISEEED lLifzD C 1 2:45.73
25| 7B (ENE SERKKEE §1 2:51.79
26| FE EZ KSGHEI 2 2:54.13
XKIOK | B AR SEEKIKEE M1 ZiE
XX | BUER FERE lLifzD C H2 K&
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MET—2

15~161% 5B -F200mE A AP L- 4
R e B B
1 HAHISC a1 2:22.30
2 s C (= 2:27.47
3 KSGHEI = 2:33.09
4 24T 4 %kR =1 2:42.94
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MET—2

Fyvt 1Yy BF200m@E AAM b- 1
JIE 2 K4 iy} -k B BE
1| Ik &3 HAKIKEE g2 2:14. 24
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MET—2

13~148% B F400m{&E A4 L- by
172 K& i HE LS e

1% B KSGHEit 1 4:40.23

2 | FEEER T EEscC f 1 4:55.22

3| BEH #®3Y SEEKKHE H1 5:16. 25

4| RBERIHR AT 14KR F2 5:22.10

5|%HA T IRKR—k 2 5:23.07

6= &KX E#scC 2 5:33.70

TER X SEEKKHE H1 5:42.38
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MET—2

Fyvt 1Yy B F400m@E AAM L- 1
JIE 2 K4 iy} -k B BE
1|&48 EE E#FSC = 5:21.97
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MET—2

10 LL T B +4 x50m2'-Y) - i
[1:304 K4 A& FE B 7%
g §ow ®=-ETRSR RERKGKEE A 2:18.35
2|5t FEEEXAM -GN BE- | py 5 4R 2:23.32
3|EE gpoxs moum = | KSGEALM 2:34.59
4 E%ﬁég-liﬁ RN ®5- e S G (A) 2:40. 12

- b9 -




HMeET—42
11~128 B F4 x 50m7Y)-Y - ot

[[1:§iva K4 & 2E B &E
1 ﬁg %ﬁ%ﬁlﬁ Ftk - RBNAIK - "j'jJISC 2:04.39
2|5k rEowm o R BC EEKGKBE® 2:07.02
3|58 §p ™ Rx9® BX gD C 2:14.01
4| BT BR-BR RE-RD R by 5 E iR 2:15. 00
5|ZE 5 7% F PR MR | KSGHAL®B) 2:17.19
6|5E BE MR BB ME- I #ERS C (B) % 3B KM
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MET—2

7
13~14 B34 x100m7Y)-YL- #
IEfiz K4 2= FE e e

1|58 By =® W omeRnte | #8ES C (0) 3:58.22
9|EE Eoum Ba-Ee % | 4pTgC 4:01. 60
3| B Eg-wE AR-AM AR | K5 GHEAL(C) 4:03. 21
4|45 Bs T BEORE BU w94 4:05. 86
5|BE ¥3 oM Rx-EA PR |5 _fksC 4:08. 40
6| Famgn AR HA-wm B | g o5 ogn 4:12.70
7| 4s BEwm Rex® BR lligDC 4:21.92
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MET—2

V4,0 ° —_ —_ 1
FAUE 0997 BF4x100m7Y-)L i
[[1:§iva K4 & 2E B 7%

1 %E&%g - b% BE-ER OFIR- ﬁ%m sC (CS) 3:42 84
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HET—4
108 LLF BF4 x50mth L-Yb- ‘”*

[1:304 K4 A& FE Bl 7%
1|55 BR-EOATE B eI ERAR 2:36. 46
2| RpEEE R RO B SR KGR (A 2:41.32
3|55 FF R ARER B IKSGEAWMW 2:55.82
4| GBI AR R TR R BBEISC(A) 3:00. 68
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HMET—4
11~128 574 X 50mA° L-Yb- ot

[1:{iv2 K& FriE B B &E
1 g;ﬁ gﬁ%g-ﬁ\iﬂi FRAE - ARE Fhk - "j'jj\ISC 2:20. 36
2|38 »u-GR xE-ER OOR- | SEEKGKEE B 2:22.43
3|38 §p-R® Wx®E RX D C 2:28.70
4|5a By T REERORRT @S C(B) 2:29.88
5|%E «f % F PR MR- IKSGHEIL®B) 2:30. 31
6 ;gg §§-§Q¥ RE - &M B - t‘JHJl'i*E %217‘](%9&1‘%
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Har—s
13~148% B4 x 100mA + b-Yb- T

IR sE K& i PE il "%
1 ED B =R PRE R KSGRALO 4:05.49
2| §E Mg mewro-mR BY O @BES C(0) 4:22.27
3|8 MEomE RRORRRR 1H—tsC 4:23.48
4|5R Pgr® ®BF % LpDcC 4:42.37
5|Ek R T BEm AR\ woHD 4:43.87
6|0 Fe ®7 P ORE D C 4:46.32
7|88 WX 7R WO R 24T 4 RR B 4 kE K
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MET—2

Feut’ FuYy 7’ BF4x100mi b L-Yb- 1
=t K4 iy P B f5&
1|55 ER P8 AF-EREE- A S C(CS) 4:04.57
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MET—2

10 LL T ZF50mE 2t
[:4iv2 K& i S LS e
1| & EREF KSGHit N4 34.18
2|k HE SERKKHE 4 34.74
3| X% #E AN =WTH7 Iha 35.13
418 U U MVERAR N3 36.74
5| E1F &P KSGEit N4 37.06
6|1k 1t AN =VFHT 4 37.57
Tk &8 24T 14 KiR N3 37.59
8|fHER TETH AN =IFHT Iha 37.68
9|luo &/ #ERE S C M4 31.75
10| X% REB AN =WTH7 N4 37. 81
1| 8RE it TSRV A 37.87
12/ KB # #BRS C 4 38.64
13| Kig & XESS N4 39. 11
14| Hadan XESS N3 39. 68
15| 1L BA TAT 4 KR 4 39.70
16| A4 E&H KSGHEit N3 39.77
17|58 %81 IRR—Fk N4 40. 14
18|1&BE BN KSS#E [l 4 41. 65
19| 5@ #K KSGEI N3 41.94
20| =15 EH H#HAISC 4 42.08
21| A Es EH#scC N3 42.54
22| KB Eib A T4 KR M4 42.90
23| FERE KK J—kscC N3 43.12
24| B fER SEAKKHE N3 43.59
25 lLA fE XESS NG 44. 09
26 |5k XA AN =WTH7 N4 45.30
27 | tkBE ® KSGHit N3 48. 51
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MET—2

1M1~12m% ZF50mE B ST

[:4iv2 K& i S LS e
1| B1E =E KSGHEit NG 28.45
2| by FE SEEKKHE NG 29. 88
3| HE FR KSGREit INS 29. 95
4| % B XESS NG 30. 46
5|#lL =@ AN =IFHT N5 30. 47
6| %A J—kscC NG 30. 64
1| &8 &S KSS#B NG 31.00
8|#H & HHISC NG 31.04
9| &R (5 EEKKEE NG 31.94
10 &5E % tifzD C INS 32.30
1 J\$# %7 W e RREE INS 32.69
[VAR"T: JZ3 24T 4 KR NG 32.76
13|k #iE SERKKEE 6 32.87
14| [IEE BBZS EEscC h6 32.88
157k SN AN =WTH7 NG 33.12
16| EAR T AN =IFHT 6 33.13
171\ %ER W e RRETE 6 33.30
18|@EE #F TSRV NG 33.51
[EIEZE; S KSS#B NG 33.60
20 | {E IR EBERA KSS#E& R NG 33.99
21|1E B8 KSS#B NG 34.02
22 | EER ER EEscC N5 34.10
23| BB Ot KSS#EE [ ING 34.53
24| BED g E KSS#B NG 35.18
25 |i=pk  BEAD AT 4 KR ING 35. 41
26| 58 J—ksScC N5 35.74
27| e Bk by FBE—F ING 35.79
28 | B B AN =IFHT7 NG 36.07
29| BRELGED W e RRETE N5 36.30
0| KiI HE lfzD C 6 36.76
3T|/hE FEE W e RREE INS 36.88
2| Bl =i\ TSRTY INY) 36. 89
33D E=P by Jo—Fk ING 37.86
34|k BETE SERKKHE 6 37.89
3 |HHE EBEE W e RREE NG 39.55
36 i HyHISscC INY) 40.18

XX REUVOFEY U MIVERIR INB K&
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MET—2

13~14% ZF50mE B st
[:4iv2 K& i S LS e
1 1& Zi8 SEHEKKEE 2 27.93
2| #L #% XESS 2 28.18
3| BB DIEE W e RRHE F2 28. 47
4| KB = H$HISscC 2 29.23
5|i%@ JE=F TSRTY H2 29.29
6|%m = XESS 2 29.39
T Bk w2 EHEKKEE 2 29. 52
8| BR R U MVEAR & 1 29. 81
9| KEF wfzD C H 1 29.98
10l #bF0 TSRV 2 30. 55
nigmAR FH XESS &1 30.57
IVAPNITIE U MVERAR F2 31.19
13 /h  EmBX SEEKIKEE 2 31. 51
145FH# #BK 24T 14 KiR § 1 31.53
15 &K #E AN =W7H7 § 1 31.98
16| REBERSE T AT 4 KR F1 32.14
17|84 % wfzD C H 1 32.27
18 [ /MMLUMEER EEscC #1 32.70
19 tB #X XESS 2 32.72
20| H L fO KSS#B B 1 33.40
21| Ih#h Ehk SEHEKKEE H 1 33.52
22| %% Fik EEscC 2 33.55
23| B DB IifzD C § 1 33.60
24| %% EF #BRES C 2 33.67
25| EB D% #BESs C H 1 33.78
26| )I1E & IfzD C #1 34.07
27 | EER B AN =WTH7 &1 34.13
28| E@A A #BRES C 2 34.39
29 | E KSS#B H 1 34.43
30 | /IHE 2 B SERKKHE 2 34. 81
3| %% = BEEscC § 1 36. 50
R|&FE BHF 24T 4 KR F1 43.38
XXX |BE XH fyFo—F 2 k37
MK | 2R RE KSS#S 2 ZiE
XXX | HE BHE gErESC 2 EiE
XXX | B BR AN =IFHT 2 e
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MET—2

15~165% ZF50mB Az o
172 K& i LS "E

1 EBEER KSS#& = 30. 47

PARYT: J—ksc = 30. 60

3|iER ¥ SEEKIKEE = 30. 85

4RE BE SERKKHE = 31.30

5| E+EFHR TSRTY =) 33.78
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MET—2

o N o 7, 3
FAut" Fuvy7 ZF50mB iz #
=t K4 B P S| f5&

11/ BE AN =WTH7 B2 28.35
21168 2 AN =WTHT =2 29.10
3| tBEx E=3 EHEKKHE &2 34.70
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MET—2

11~12% ZF100mBE A 20t
[:4iv2 K& g S iS10] e
1BEH BE U MIVERAR NG :04.78
APNITING S5 U MVERAR N6 :05. 45
RARIAY /N - SEEKKHE N6 :06. 02
4| % B XESS NG :07.42
5|k %A J—kSC NG :09. 15
6| RAVFEY U MIVERAR NG :09. 61
T\ T W e RREE INB :10. 23
8| &8 &b KSS#& [ NG :10. 26
9| #H =2 H$HISC NG :10. 39
10| D AN =797 NG :11.98
118 BE RS C NG 112.71
12 8Kk Ex #Bfs C NG :15. 51
13|k &8 SEHEKKEE NG :15. 77
14| NEREE SEHEKIKHE Y] :16. 13
15| /iE HE SEEKKHE NS :17.87
1618 5 XESS NG :18.97
17| %k #H AN =WTHT NG :19. 95
18118y &% W e RRHFTE ING :20. 02
19 Ef %8 TSR NG :20. 94
20| LB CIE< #ES C e 21,21
21| Rk Ak by Jo—Fk NG :21. 68
VANE <h S SEHEKKEE ING :21. 68
23| 58 HfE J—ksc N5 :22.57
24| /DB REE W e R RHE NS :22.70
25 | BBl ED W e RRHFTE NG :22.75
26 =B BEAN 24 T4 KR NG :25. 67
27| Ik BTE SEHEKKEE NG :26.57
28 |Ei0 =P by JFO—F NG :26. 87
29| =k ME by Jo—Fk NS :29. 11
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MET—2

13~148% ZF100mBE R o
172 iR HE LS e
1| 25wk AN =VPHT H 1 59. 34
2| WE BH XESS f 1 1:00. 96
3|tk SEEKKHE F2 1:02.18
4| BB DA% W e RRETE 2 1:03.04
5|%M SERKKHE 2 1:03.25
6| %M TSRy 2 1:04.20
T|ER U MVERIR 1 1:05. 38
8 | R SEEKIKEE F2 1:05. 57
9| KB HHISC 2 1:05. 65
10| Kl U MVEIR 2 1:05.78
11| ep#dt wzD C H 1 1:06. 33
12| &#8 SEHEKIKBE 1 1:06. 47
13/ SERKKEE 2 1:07.52
145FH# #BK 24T 4KR f 1 1:07.69
15| Fil TS3RTY F2 1:07.90
16| =48 SEHEKIKHE 2 1:08.25
17 | # #BESs C f 1 1:08.99
18| & SERKKHE f 1 1:09. 33
19FmAR % HHISC H 1 1:09. 56
20 | BB HHFR lifzD C 1 1:10. 80
21 | REBERE 24T 4KR §1 1:11.89
22| EX # AN =NTHT H 1 1:12.27
23| tB # XESS 2 1:12.70
24| 2k SAY T HT th2 1:13.30
25| 75k KSSE& R f1 1:14.88
26| BB wzD C f 1 1:14.91
27| 1HA wzD C H 1 1:15.84
28| EE R AN =IFHT7 F1 1:16. 54
29 | %% #BrES C f 1 1:20.36
30 & W e RRHTE 2 1:21.24
XXX | BE XH by ZFo—F H2 e
XXX | RE HE XESS # 1 e
XXX | 2R RE KSSE& R 2 EiE
KX | EmE EBF #EmSs C F2 ZiE
XKNK | R BR AN =NFH7 2 EiE
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MET—2

15~16& ZF100mBE Bz 1
JIE 2 K4 iy} -k B BE
D HAKIKEE =1 1:07.03
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MET—2

FAUE Fuvy7° ZF100mE B ‘”*
172 K& i HE LS e
1|7 FEH KSGHEit =2 1:00. 57
21BH# HER BESs Cc =2 1:02. 64
3| &k MW #BESsC =2 1:03.07
4|8k %A SEHEKIKHE =2 1:05. 41
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MET—2

11~128% ZF200mE B o
172 K& i HE LS e

1BEH#H BE U MIVERIR NG 2:14.43

VAPNITIN 3 U MVERAR NG 2:20.25

3| kik HE XESS NG 2:31.18

4 FE D AN =NPHT NG 2:32.96

5| Ik ™ H$HISscC h6 2:34.97

R I E SERKKHE NG 2:39.77

1 INERER SEEKIKEE N6 2:42.91

8|HIE FFT SEAKKHE NG 2:45.22
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MET—2

13~14m% ZF200mE B 22t
[:4iv2 K& i S LS e
1\ %=k T2 AN =757 &1 2:07.03
2| T BA& SEEKKHE 2 2:10. 66
3| &Rk JF SEEKKHE F2 2:16. 44
4| EFH KA XESS 1 2:20.29
5| E+RHBK #BES C f 1 2:20. 38
6| ENILAIE wzD C f 1 2:23.37
7|tk HETH SEEKIKEE 2 2:23.86
8| EE kB EHEKKEE F1 2:24.42
9| KA K H#HISC 2 2:24. 45
10 EBETIRE SERKKHE 2 2:26.19
iR fEdH SEEKKHE H1 2:26. 48
12| BEAHE SEHEKIKBE 1 2:29.29
135k BT ifzD C 2 2:31.04
141% &AX EEscC f 1 2:31.68
155K %KEB YHISC H1 2:32.07
16|88  FF SEHEKIKHE 1 2:32.51
17| E8 KR IRR—F 1 2:34.42
18|#A & IRR—b &1 2:38.53
1928 & SAY T HT 2 2:38.96
20 | REPERE AT 14KR 1 2:39. 54
KKK | R ZNER lifzD C H2 e
XK | ®E AR XESS #1 EiE
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MET—2

15~16& ZF200mE Bz 1
JIE 2 K4 iy} -k B BE
D HAKIKEE =1 2:25. 41
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MET—2

Fyob” tvyy7° ZF200mE Bz 1
JIE 2 K4 iy} -k B BE
18 20 EEFS C =) 2:19. 71
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MET—2

13~14m% ZF400mB B 124
[:4iv2 K& i S LS e
1| 1&E SeF SERKKHE 2 4:43.95
2| B ETY EEscC f 1 4:49. 86
J|ENILAI lfzD C H 1 4:58. 31
4|1Efk BT SEHEKIKHE F2 5:02. 11
5|8k EH XESS 1 5:05. 57
6| AEAHE SEHEKKEE & 1 5:05. 83
T\8K T SEEKKHE H1 5:10.18
81 FH EX T AT 4 KR t 1 5:12.01
9B EE ifzD C th 2 5:12.70
107K %B HHISC f 1 5:25. 40
nigE e SEEKKHE H1 5:26. 67
XXX | RE HE XESS # 1 e
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MET—2

[N PR R ° 3
FroE” 1vyy7 ZF800mBE g #
=t K4 B P S| f5&

1\ &% X8 TMVERIR a1 9:51.22

2|EBED ET #ErESC i1 10:10. 41

| EREERER J—kscC 2 10:32.59
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MET—%

108 LT TF50mE ik & 1ok
172 K& iR HE LS e
1| & EREF KSGHit N4 37.38
2|t BE3F J—ksc 4 40.10
3| AR &7 TSRV 4 40. 11
410 & #BrES C 4 42.57
5| tARBAAE XESS IN3 42.95
6| KiE HiFm XESS 4 43.67
T|K@BE & #BREsC N4 44.48
8| Kig ®iE XESS N2 44.63
9| tEBEFIRF #BSs C ha 44. 74
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